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goooooo EXCELOOO aog ROOOOOOOO
O Oo0o ALYlOOOOoOooooooo Ox< —c(..)0D00000000x0O00O0DOOO
oooog
ooo 000D000O0=MODE(A1:Y1)OOO hist(x) 000000000000 DO0OOOODO
gooooooooooooooooon o0oooooooooO0oooooooocoooo
oooo0ooo0oOoOoogoooooo hist(x,c(min(x),5,8,max(x))) 00 00000x 00O
oooooooooooooboooooo ooogsooos00 8000800 xO00O000O0O
gooooooo gooooo0ooooooooo0oO0o0oooooooono
000 hist(x,5) 00000000000 O0OOOO
goooooooooooooooooboooooon
gooooooooooo
OO0 Ohist(x,plot=F) 0000000000000
ooooooooobooo
ooo =MEDIAN(A1:Y1) median(x)
000x000 NAODOOOODOOOOOODOOO
median(x,na.rm=T) 0 0 0 median(x[lis.na(x)]) O
oooooooo
ooo =AVERAGE(A1:Y1) mean(x)
00000=HARMEAN(ALYD)DOO 00000 1/mean(1/x)000000 exp(mean(log(x)))
00 0=GEOMEAN(A1:Y1l) 0OOO oobooooo
ooo
oo =MAX(A1:Y1)—MIN(A1:Y1) max(x)—min(x)
0oooo =QUARTILE(A1:Y1,3) IQR(x) D000y < — quantile(x); y[4] — y[2]
— QUARTILE(A1:Y1,1) 0000 fivenum(x)[4] — fivenum(x)[2] 00000
ooooo =(QUARTILE(A1:Y1,3) IQR(x)/2 D000y < — quantile(x); (y[4] —
— QUARTILE(A1:Y1,1))/2 v[2))/2
0000 (fivenum(x)[4] — fivenum(x)[2])/2 000
oo
gooo =AVEDEV(A1:Y1) oooooooooboo
sum(abs(x—mean(x)))/NROW(x) 000000
gooo =VAR(A1:Y1) var(x)
000DD0000=VARP(ALY])D O00000000000000000000
ooooo sum((x—mean(x))0 2)/NROW(x) DO O0O00O
oooooo =STDEV(A1:Y1) sd(x)
00000000000=STDEVP(AL:Y1l) 0000O000O0OOO0OO
oooooo sqrt(sum((x-mean(x))J2)/NROW(x)) DO OO0 O
()
ooocoocoao oooOoO0o0oooooOooo oooooooooopoooooo
ooooooo x < — read.delim(” C:/My Documents/solomon.dat”
ooo

header=T) 00000 g
000000000000 x$age 00000000

gooooooooooooooooooooooo
odod

x < — read.delim(” C:/My Documents/solomon.dat”
sheader=F) 0000000000000 x$V1, x$V2,
..ooooooogd
00x$000000000000attach(x) D000 V1

oo v2iooooo

|
gooo

goo0oo0o0oo oooooDoobooooo go0oooooooobooogooono
oogooooo x < —read.csv(”C: My Documents/solomon.dat”
ooo header=T) 000 **oDoODOODOOOODO
DDDDDDDDDD
x < — read. csv(”C /My Documents/solomon.dat”
sheader=F) 0000
oo0ooooo oooooDooooDo de(x$V1x$V5) 00000000000 OOOOO
gooooooooooooooooooooooo
ooooooooooo
goooooo goooooooogoo 00000000000000 x000000000
0 0 sampledat 00000000
write.table(x,” C:/My Documents/sample.dat” ,sep=",")
00000000000 sep="¥t"0000000
) DDDD000000000000000Vx< —sum((x-mean(x))02)/NROW(x) 000000000000000
sqrt(Vx) 00 000000000000
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0oooo0o00o0o0ooo0oo0O0000o0oo0O0000oooo0o0000onoomOnOWindows2000 000000000
00000000000000000C:/Documents and Settings/nakazawa/My Documents/0 000000
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